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206 | ERERA | AFERRERETE (AET) (o —mtAT=]| H279.28 7,304,040 7,020,000] 96.11 [(F)EIEIT#HFAT [01 BERA 1
207 |&EERRREETM | EEAERETE (REHRE) 03 EFETSH H27.9.29 25,630,560 24,840,000 9691 [(Bp)—%KEF%H |01 BER 1
208 [ILO T ARZEFEFT [EIRIBYLSHE CKBF) TECGEREXE) ot — @+ ATE]| H27.9.29 5,996,160 5,940,000] 99.06 | (#k) <L A 01BN 1
209 |AERUREREFHRA LA (RH(EE)) IEGER) 01 —f+ATE|[ H27.9.29 29,920,320 29,916,000] 99.98 ﬁ@L T2 (k) |01 B 1
210 [ZB 8 )| E AL | EREY S B (B1HE) TECEERR) [omunET=]|  H27.9.30 7,488,720 6,804,000/ 90.85 |E—#RIL T ¥ (%) [03 BN 3
lg%#ﬁ—ﬂ&ﬁﬁ%)\*.(ﬁéﬁﬁﬁ!) e TR EEEEE E[Eié.rs%)%%%::|:7|<*&r51
R E3)) E = )J e "gﬂ p: $ =% Eﬁ % %
% %/I*%Eg I$% I$‘$§Eu K%"J H (*ﬁ;& Fq) (*EJ\AH) (%) nﬁﬁ%%% O)i‘H_j,iEj %ﬁﬂ%s&
1 [BIeEREEe EBREYLS B ITEGERTEH) [0 —BtATE H27.4.6 151,756,200] 149,040,000 98.21 [ZHEZ(¥k) |01 BR 1
2 |EETIASERER BEEYOREREE I=GE) 2 GETE H27.4.10 52,887,600 52,596,000] 99.44 [##LEHEGE) [01 BR 1
3 |EEHEREH[ERBYLOSERE X H>I$<$§;éwm 0l —fg+ATE| H27.4.14 63,608,760 58,752,000 92.36 |(#4)&iEEE [01 BR 3
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% %II*%E& I$% I$*§}%” K%I‘J H (*‘R'ﬁ Fq) (*RJA Fq) (%) nﬁﬁ%%% O)i‘miﬁ %7]“%&
4 |EREAREHE [ERBYIOSEREE)IEUER) [0 —MKEtARTE| H274.20 105,197,400] 104,220,000 99.07 [HHEHZ (#k) [01.BR 1
5 |n&iEsz@nEsm S EEEILER(5-68) TEHKT) [or —@+RTE|[ H274.22 232,566,120 231,120,000{ 99.37 |f@;EK—E % (%) [01 BN 1
6 |MEEAZRSEEMEE EE(HE))IT=E GHEM |0 —mwtixT=|[ H27427 35,281,440 32,216,400 91.31 [MBEEZE (¥%) 02 BIEIEN 2
7 |[herszensnm | S GEIEER (BEE) TE(8EY) |0 —wtATE H27.5.1 132,539,760 129,600,000] 97.78 [ILUAR T Z (4) 01N 1
8 |MEXMGEREREFHA [MhigiRE T EGER) 01 —f+AT=E| H275.13 204,662,160] 203,040,000] 99.20 [ri-emnenurssmess (01 B R 1
9 |&EERBEREHM[WIE M) IEFHAAIR) 01 —fg+ATE| H275.18 46,791,000  44,496,000] 95.09 [ (¥k) #& LA 01 EWH 4
10 [SgEnggEsm ) () T3 (K1) 01—t AT=HE| H27.519 41,668,560 37,767,600 90.63 [TJIIEZTE () [01 BX 7
11 |EEEERT EREY SBE (KA TBERERTE) [0t — @t ATHE| H27.5.27 33,103,080 32,940,000 99.50 [FEHEEHZTE () |01 EX 2
12 |BAb2ERFEIFA I (X)) TE ER) 01—+ ATHE| H27.6.1 38,954,520 38,664,000 99.25 |FEEHT X (#) |01 A 2
13 INEXLEBERA (Y L () THE(TLA—2%E) [158ERETE H27.6.3 153,783,360 136,350,000{ 88.66 |(#)F= Fitx4t|04 B4} 3
14 |Ech R EET [T A TIEERERIE GBS 01_—1‘%}Q:I:JI<I$ H27.6.4 245882520 213,840,000 86.96 [ (#) HHLY 01 &R 4
15 |EZHEREBHEN [EBRBYLSBR (X ﬁ)I%(:E&%EAzE) —BtAIE H27.6.4 43,473,240 40,176,000 92.41 [7UEEEER (%) 01.ERN 7
16 |BIIEAREFEF [EREYLSHE M) T (GERB) ozﬁﬁ ETE H27.6.5 19,600,920 17,712,000] 90.36 [mmzazsw=nzzxs [01 BN 7
17 |Eeh RS ER (MR RIECEET) 10 EEMETIE| H27.6.9 31,938,840/ 30,348,000 95.01 |(4)@BUT7S54X[01 BN 3
18 |BJIEAREFHRT [[EBEYLSHEB(ESR) IEW@EREMHE) [0 —KBEtATE H27.6.9 61,242,480 54 464,400] 88.93 [t tp BL%E (01 BN 6
19 [INESX LEBEFEH @A(iﬁ)l%(&ﬁ;ﬂugﬁﬁ) 15 BIERBTE H27.6.9 24.563,520 23,760,000 96.72 [(¥R)fRE@IE  [01LEA 1
20 |WhEREREXEM |4 iﬂ%(scﬁ(&iﬂ%))l%(ﬁﬁ%ﬂﬂzﬁ) 01 —fg+kTHE| H27.6.10 233,300,520 228,960,000 98.13 |'HAZBHF (¥k) 01 BN 1
21 [fAEBERBERT ,5\,ﬁti4a_ml$(ﬁﬁ 02&ETSE H27.6.11 81,359,640| 81,000,000 99.55 |[EEIEBFTE ) [01 BR 1
22 | DELEIAREIEF EE%*’@U;—J%E%(“‘%)I%(isﬂil) 01 —fE+AT=E|] H27.6.12 36,304,200 35,640,000( 98.17 [EEEAR(¥k) |01 ER 2
23 |LWVhE BB [EBEY SSBE (BE) TE KEBR) ot — g+ ATE| H27.6.16 82,905,120] 82,080,000 99.00 | (#) Tk EF 4R 01 BR 1
24 |EZFEEREH[ERBYOSERGH IEEHE) |02 HETE H27.6.17 26,721,360 23,996,520 89.80 |RIEEERTI X [01. BN 7
25 | RN ER [T AHIEERERIE () |02 #HETE H27.6.17 29,763,720 29,484,000 99.06 |12 2% (%) 01LEAN 1
26 |EIbEREHEN [ERBYOSEBRERGEH IEGE) [0 —B+RKIE| H27.6.23 55,532,520 52,704,000] 94.90 ﬁaasL ST¥ ) 01BN 1
27 |EMERSHEM (BREAENETISE (RERE) 03 JEETSE H27.6.24 41,011,920  40,824,000( 9954 [;ZFEEE (4%) |01 BR 1
28 | B rh R [ERBYLSHE () T GaEwe) (02 T E H27.6.25 42 819,840 38,772,000] 90.54 (HE)E%“..%E 01 ER 3
29 [AN T REFHE EBRBYLSRE(BE) TS (GHEMAE) (02 HETE H27.6.25 19,383,840 17,377,200 89.64 [#FHEHRTE (%) [01 BN 5
30 AT AREFHFRT [EREVOSEEEE) IS GEdEE) 02 TS H27.6.25 11,643,480 10,476,000) 89.97 [#FHEHTE (%) [01 BR 5
31 |AIN T AREEE [EBRIEYSH#E (R8N T2 (GER)) (02 88T H27.6.25 29,549,880 26,600,400 90.01 | (k) /IN;E4R 01 BER 2
32 |EmEREHRA [ERBYLSIERE(EE)IEGER) [0l — B+ RKIE| H27.6.25 39,782,880 35,780,400] 89.93 [EZREE (%) 01 &N 5
33 |MiE T AEIEFT [EBEYOSHE(ES) TEWER2HEE) ot — B+t ATE| H27.6.25 25,293,600 23,598,000/ 93.29 | (#k) F¥3— 01LEAN 2
34 [MiE T AEEAT EBRBYLSHE (e TE (@EdE) 02 TS H27.6.25 17,704,440 15,973,200] 90.22 | (#k) F¥a— 01 EW 5
35 [MiET AEFE [EREVSREESE) IS @EdE) 02 aETE H27.6.25 21,774,960 19,602,000( 90.02 | (#k) F¥a— 01 &N 6
36 |#iE T AREIFFT [EBREBEYLOSRE(ESE) TEGEEWEE) (02 T E H27.6.25 44.567,280 40,014,000( 89.78 |[EEMAEZT X (%) |01 BR 5
37 [MiET AREFE [EBREVSREESE) IS @GEsde) 02 aETE H27.6.25 49,245 840 44,226,000( 89.80 [BEHEZT X (%) |01 BR 5
38 |FILEERERA EREYLOSBE(BE) IECRRXE) [osmnETE| H27.6.25 197,620,560 176,040,000 89.07 | (#k) EE T 5T |01 BX 1
39 [ILO X AREFEAT EBEYLSERE M) ITEEEWE) (02 TS H27.6.25 11,209,320 10,908,000{ 97.31 [(#k) BB T 75Fr |01 B A 1
40 [IUO X AEEET EBREYLSBE(BE) TECERIE) [osmmnETE| H27.6.25 45366,480(  45,252000( 99.74 |£:Z:EZ@®m () |01 BR 1
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M IO AREFEET EBEYLSBE ) TE@EEWE) (02 TS H27.6.25 18,647,280 18,219,600] 97.70 [wmemmsa—ri—sa mesx [01 B A 1
42 [ILO X AREFEFT [EBEY LS (M) TE GEEWEE) |02 T E H27.6.25 17,130,960 16,740,000 97.71 [wesmmusa—ri—sa mansn |01 B[R 1
43 | MFEEXREHFA [EBREYLOSRE(BE) T GhEwns) 02 T E H27.6.25 70,622,280 62,100,000] 87.93 [FL/\T=E (%) [01 BX 6
44 | ZAMTREHA[OSLLVEKYHETECGE) |0 —#B+RKTE| H27.6.26 39,887,640 38,664,000] 9693 |(R)EFFLE [01. BN 1
45 |#iE T REFEFT [EREBYLOSHE e T GhEwn) 02 T E H27.6.26 34,773,840 31,320,000] 90.06 |EEERITE G [01. BN 5
46 [HiE T REBFEFT EBRBYLSIRE (BE) TS GEMAE) (02 HETE H27.6.26 29,893,320 26,924,400| 90.06 |KHREE (%K) 01 BN 6
47 [MiE T REFEET [EBREYLSBE XM TS EERE) (02 g/ TH H27.6.26 34,722,000 31,168,800| 89.76 |EHRE% (%) 01 EMA 6
48 |ELHRREFEA EBREY LS8 (M) TH (SEwHE) 02_%2&1% H27.6.26 18,462,600 16,545,600 89.61 [(#k)EBEELER |01L.ERA 8
49 B EERER [ ERBYOSBEGEE IEGEI) o —BEATE| H27.6.29 65,686,680 61,884,000 94.21 [EEZE% (¥) 01LEXN 1
50 |IUO = REFERT [EBREBY LSS ) TE (5 #ﬁﬂk) ozfﬁ ET= H27.6.29 19,747,800 19,548,000( 98.98 |ILE % (%) 01 &N 1
51 |haiEsEz@BEnm (S EEBER GES) T (EREAT) (e sAELHTE| H27.6.29 31,627,800 29,916,000] 94.58 [BAFN T 2 (#%) 04_E 4} 1
52 (BB AR |SERENERRTHITE (BB [1558ERETSE]|  H27.6.29 101,545,920 93,198,600 91.77 [KMEBEREIE (¥) |01 BX 2
53 |MEVEREFRAT (A A BERERIECEE) [osEmMETE| H27.6.30 35,380,800 34,560,000 97.68 swf—t*Lnx(He) 01BN 1
54 |'E FEAREFRT EBREBYLSIERE M) TE(SEME) (02 SHETE H27.7.1 14,034,600 12,484,800 88.95 |5 —1 % (#k) 01.ERN 2
55 |IRIE T KRBT [EBRBYOSHE (BRE) ITEEE) |02 HETE H27.7.2 28,722,600 25,374,600 88.34 ";aaﬁL BRIZXE®) 01BN 7
56 |=F T AEIFFT [ERIBYLSEEG(EE) TS (HE #ﬁﬂ") 02 8T E H27.7.2 28,377,000 25,542,000] 90.00 [+ mwxE 01 BER 4
57 |E T ARERFAT [EBREYLSEE (XM ITEFBREE) (00 FHETE H27.7.2 171,752,400f 150,120,000] 87.40 EAEZTIT % (¥%) |01 BN 10
58 |ELHEREFH [EBRBYLISHE (KB TECERKE) [0 — B+ AKTE H27.7.2 49,765,320 44,604,000( 89.62 [(#k):BELER |01L.ERA 3
59 [fAIERERAT [EERBYOBEEE) I EGEE) o2 4ETE H27.7.2 96,966,720 96,660,000] 99.68 [f#&ILIFEER (%) 01 BN 1
60 ZE”E"JII:I:K$%§FE EEBYLSER(BE) TE (G %ﬁﬂ“) 02 gH3ET = H27.7.3 28,599,480 24.894,000| 87.04 %ﬁiﬁ@é&('ee) 01 BN 7
61 |88 )L AREHR [ EBRBYLSBE(EE) IS (BERE) (02 HETE H27.7.3 31,597,560 27,723,600| 87.73 [FrEE % (%) 01 &N 7
62 n,izsw_ SREF | EBREY SO R T2 (BEaE) |02 HETE H27.7.3 28,806,840 25,650,000] 89.04 [k + K (k) 01 &N 8
63 |ABINEAEHE ERBYLOSBE(ES) TS (HEwe) (02 HETEH H27.7.6 58,031,640 50,446,800 86.92 | (%) HHLY 01 &N 7
64 |BNIETREFHERT EBEBYOSERBEH IF(XEH) [0l —BTATE H27.7.6 74,512,440 73,980,000] 99.28 [(BR)fEEEE [01.BN 1
65 |EZHEREBIFA EBRBYOSHE i) TS (HEa1E) (02 SHETE H27.7.6 33,937,920 30,298,320] 89.27 |(R) =B ER  [01L. BN 10
66 [SEENERERT ERBYOSHE(HE) TS GERE) (02 HETE H27.7.7 115,766,280 101,399,040 8758 [t K () |01 BN 9
67 |IBALEREREIERT PEBRBY LS (M) TE BhsEEkE) [15 BERBTS H27.7.8 79,419,960 73,440,000] 92.47 | (#k) /\> 3 A @IS |02 miz3Em 3
68 |=F T AREIEFT [EBIEY LS (BRI (SHEHS) (02 HRETS H27.7.8 25,419,960 25,164,000] 9899 [=x+@up mwxiE 01 BER 1
69 |=F T REFFEFT [EBRIBYLSHEE i) T= (BEwE) (02 HRETS H27.7.8 29,320,920 26,438,400 90.16 |(R)=HIE [01L.EHN 5
70 [=F T REFHFFT | EBREYVLORER(EE) ITE(HEEE) |02 TS H27.7.8 29,021,760 27,280,800] 94.00 [=x+zp BiLzE (01 BR 3
71 |SEENEREBH[ERBYIOSHE (KB) TEGERKER) [0t —B+ATE H27.7.8 63,469,440 57,402,000] 90.44 [;T)12ETE ) 01 BER 4
72 |[eEnESE=Bkm [ BREVLOBEB (XM IECEHSE) [13HETS H27.7.8 85,686,120 83,700,000] 97.68 [BAMTFKEIE (%) [01 BX 1
13 | NEELAKREFHE EBRBYSOSEREGEE IFZCEAT) 10 EERETE H27.7.8 65,595,960 64,800,000] 98.78 [ #En<NFvoZ [01 BN 4
74 [fRETEEEA |ZHEGER) TE (E##R) —BtATE| H27.78 71,232,480 64,260,000/ 90.21 ﬂhﬁﬁthl%(ﬁ) 02 B3N 2
75 |=F T REFFT [ERBYLOSBE(EE) IS (@EERE) (02 HETS H27.7.9 14,730,120 13,348,800 90.62 |EF T % () 01 BN 2
76 |=F T AREJHE EREBEYOSRE(ES) TS (BEwe) (02 HiETE H27.7.9 23,488,920 20,844,000] 88.73 (#’%)E;ffﬂ 01 &N 5
77 B T AREFHET EBREYOSHE(ES) TEBREE) [0 —gtATSE H27.7.9 26,732,160 23,727,600 88.76 |[BE/#ERETX () [01 BX 4
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78 [E2 A REFEAT EBRIBY LS BME () TE(EEHRE) [15a8ERETE H27.7.9 109,519,560 96.444,000] 88.06 | ) 2 2B 5, T & |02 EaEm 3
19 |EZAEREREREYOREGESE) IECEm) 1o zENnETSE H27.7.9 47 453,040 47,304,000 99.68 |&igxm ) iExiE |02 BiEsER 1
80 [HEFUERFEH [ERBYLSOSEFEER ISGE *ﬁﬂk) 02 SHETE H27.7.9 43,198,920 42,660,000 98.75 |EILEEER (#k) 01 &N 1
81 |EFENEFA EREYLSOSHE (BB T (HBHE) o —g+tkT=E| H27.7.13 49,669,200 49464000 9958 [EEATE () |01 BR 1
82 |EmEREIRA [EREYIOSRE(BE) T GhEwn) 02 HETE H27.7.13 63,472,680 56,700,000 89.32 aa*sEEIL I%(Ek) 01BN 6
83 |MLEERERA LRI TE(BEERETL) 01 —fig+ATE| H27.7.13 49,326,840 49,140,000 99.62 [wmemmesa—ri—s menex |01 B[H 1
84 |ILO X AREFEFT [EBRIEBY L5 (E) TE Ghw@1E) |02 T E H27.7.13 19,037,160 18,900,000] 99.27 [wmemmsa—si—sa mesx [01 B A 1
85 |WhEEREH [ (XH(FE)) IECEETI) [l ZzmaETE| H27.7.13 32,474,520 29,700,000 91.45 ('a)/J\,,ffﬂ 02 BEHE3E M 2
86 |FE T AREFAT [EBRIBYLSERE KM TEGERMEE) o1 — @+ AkTE| H27.7.13 95,124,240  86,076,000] 9048 [(#k)7F<vY [01.BA 2
87 |HEEEEERERM[BE XM (EHE)) TEGERK) —tATE| H27.7.13 76,208,040 75,060,000 9849 [FIEHZGH) [01LBA 1
88 |EIbEREHEMN [ERBYOSEBREE) IS GHE) |02 HETSE H27.7.14 43,619,040 38,102,400 87.35 |RIEEFRT X (B) |02 BiEsEm 6
89 |BILiZREHA ERBYLOIER (XM IFEEE) 2 454XETE H27.7.14 59,208,840  52,282800] 88.30 [ZHEZE(HE) [01 BR 3
90 | BRI T REFEFT [EBIBYLSHE ) TS (BEmE) (02 HETE H27.7.14 19,378,440 17,360,352 89.58 |(#k) EEER |01L.BH 4
01 |SEENBREBI [ERBYLOSEE(ESR) TECERHE) o —+AT=H[ H27.7.14 53,198,640 52,920,000 99.47 |&FEHZ(¥%k) [01 BW 1
92 B EREFFFT | EBEYLSIERE (X)) TEUBR L) o7 PcisLsHTE| H27.7.15 56,192,400 50,760,000 90.33 | () BAE—T X|04 B4} 6
03 |IBILEEHEIFAT [ERIBYLSBRE R TE BRHE) [09 BETS H27.7.15 82,813,320 74,088,000] 89.46 | (%) /NEFTXFr [01 BN 5
04 |EFgRREIEFT ERIBYLSBE R TE (RBEHE) o —+ATE| H27.7.15 73,312,560 73,224,000 99.87 [EEEEBZTE M) [01BR 2
95 [ZBE I T REFEFT | EBEY L5 @) TH (HEEE) |02 TS H27.7.16 14,361,840 12,700,800 88.43 |Fm&EEE% (¥k) 01.ERN 10
96 |EEEERERA | (XA (EE)) TECER) 10 EEMETIE|] H27.7.16 76,246,920 68,148,000 8937 [mru—v—rtzEe|01 BERN 2
97 |EZHEREFER EBBY £SBM () THE (BEA%E) |04 ESRMBITE| H27.7.16 87,096,600 80,460,000] 92.38 |[mummEn szrxem |01 B R 6
98 EE K T AREEAT EBRBY LS8 () TE (SEwHE) oz‘l‘ﬁ I=xE H27.7.17 38,198,520 33,818,040| 88.53 [EENE 2 (%) 01 &N 5
99 |BALEEREFAT |THHAHXEERERISE ER) [0l — B+ RTE| H27.7.21 82,140,480 73,764,000] 89.80 [{£EEEM TE (%) [01. BN 2
100 [ A I T REFHRT [EBREYLSBE(BE) TS (GEdE) oz‘l‘ﬁ ET=H H27.7.21 32,708,880 29,261,952| 89.46 (R EEESR [01LEX 7
101 [fENERER B 75Fr LEBRBY OSBEESE) IECEBR) 10 ZmnETsE| H27.7.22 47,566,440 44.820,000] 94.22 [ZFUBIEESE () |01 B 1
102 [FEPGERFEFAT [ERBYOS# BB IES(EERS |02 #HETE H27.7.22 140,780,160( 140,400,000] 99.73 |FEREZTIT X (¥%) |01 BR 1
103 |WVhEEREHA (A (XM (FE)) ITEFCEEI) 10 iEMEIE| H27.7.22 41,319,720 41,040,000 99.32 |F AR (#k) 01.EH 1
104 | BB |ERERRSRETE FHEHEB) oz‘l‘ﬁ IE H27.7.23 24,945,840 22,356,000 89.61 |FBFRIEZT X () [01 BEW 4
105 |[EZAEEREHEM I () TE (RE) —jE+ARTE| H27.7.23 79,293,600 77,544,000] 97.79 [BREZRITE () [01 BX 1
106 [ZE2 ARSEHEM|EBRBYLORE (RB)ITE(GHE) 13_;‘%%‘%1% H27.7.23 32,164,560 31,752,000] 98.71 [smerimzm wszzsm |04 B &b 1
107 [WhEEEREH (BRI E (RART) —fEtATE| H27.7.23 32,310,360 31,968,000] 98.94 [(#k) K—#f 01LEAN 1
108 | B rh R =I5 [[EREBY LSRG (BE) TE GaEHE) ozﬁﬁ ETH H27.7.24 42,812,280 38,772,000 90.56 [RBFNEEER T % (k) |01 BEX 7
109 [EERERN BEREYOREEE) IE=CER) [10ZEMETIE| H27.7.24 60,794,280 53,136,000| 87.40 [ (%) 01 BEWN 3
110 | B BB (R4 (BE)) TECGEM) 10 xEMETE| H27.7.24 74,189,520 64,746,000 87.27 [EAENKR ) |01L.ER 4
111 |MiET REFHE [EBREVOSBEEE) IECERKE) [0 —g+txTE| H27.7.24 88,040,520 75,762,000] 86.05 [{EA L (¥k) 01LEAN 5
12| B T AREFAT [EBREVOSBE XM IECHEERE) 1S HETSE H27.7.24 21,890,520 21,254,400 97.09 [BAmTKEH (%) [01 BX 1
113 |[ELEESEHI TS XIEERERIEXET) o1 —BEtATE| H27.7.24 137,238,840 136,080,000f 99.15 | LT % (%) [01 BER 1
114 | EhBRERE EEFEEEISE (RE-A) |3BEIE H27.7.27 103,673,520] 99,468,000 95.94 [(#k)EDEE |01 BR 6
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15[ AT AREBFEFT ERBYLOSRE (BE) IEKERR) 1o EmnETE| H27.7.27 111,249,720 96,876,000 87.07 [(#)@EUTS/4X|01 EX 2
116 | JEE T REFEF ERBY L5 CEBR) TECEAE) o1 —@+ATE| H27.7.28 42299280 37,454,400| 88.54 [EERE X (%) 01.ERN 1
117 BB EREFEA [#ES<URRIEE G ) TEGER LE [os SR L& THE| H27.7.29 71,596,440 64,692,000 90.35 | KE T % (#) [o2mizsem 1
118 | R ENEREHAM [ ERBYOSBRE M IEHER) o1 —BERTE|[ H27.7.29 55,388,880 51,710,400] 93.35 [IL+5E% (3%) 01.EA 1
19| BT AREFHRT [EREVOSBEBE@EE) IECERAMGE) o —BtATE|[ H27.7.29 30,908,520 27,342,036] 88.46 |=;¥xm (%) 01BN 9
120|E FEREFHEA [OSLLVEKYHETECGEE) |0 —B+RITE| H27.7.29 13,772,160 12,344,400 89.63 [(#R)FAtI X |01.BA 4
121 |WVh BB E AT [EREY SBE (BE) TECGERHR) o1 — g+ ARkTE| H27.7.29 55,016,280 48,470,400 88.10 |EEIT X (¥k) [01 BEW 3
122 [WhEESRFHA | (X (EE)) IEF(RART) [0l —B+RKIE| H27.7.29 68,524,920 66,798,000 97.47 [ () KJINEEER [01 B X 1
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252 |WVh SR ISAT [ EBREY LSBE (BE) TEEBR%RER) 01_—Exj:7kl$ H27.9.29 253,145520] 251,640,000 99.40 | (k) kEF4H 01.EH 1
253 |ZBE )| £ KRB [ ERBYLSEE (FE) TE(KEEHR) ot —@+ATE]| H27.9.30 13,288,320 11,880,000 89.40 [(#k)/\A;B#H [01 BN 1
254 | BN AREFERT EREYLSERE (BE) TS EHERE) ozﬁﬁ ETH H27.9.30 11,584,080 10,306,440 8897 [[KATE () |01 BR 6
255 [HEE T REFRAT [BEREYLOSEM(BE) TEGERE) [1ozmpETE|  H27.9.30 29,992,680 26,805,600| 89.37 [EAEER () 01 W 2
256 |#E E REFEFT [EREY LSRR (BE) TECEMA) 10 2EQETE|  H27.9.30 28,068,120] 24,980,400 88.99 EARER (%) [01 BW 6
257 | EE R T AREIHR [EREYOSEEB (BHE) TECEAHH#) o —EtATE| H27.9.30 30,665,520 27,170,640 88.60 :ﬂn ZRIER) [01LERN 2
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% %/I*%Eg I$% I$‘$§E‘lu K%"J H (*‘Rﬁ Fq) (*EJ‘AH) (%) nﬁﬁ%%% O)i‘mﬁj %ﬁﬂ%ﬂ
1 |EhERE%i [EEAEFERBEIEGER FR) [0 —B+ATE H27.4.9 1,055,041,200] 921,024,000] 87.29 [emr—mumnennrssmess [01 B R 3
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FEHLE
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% R E)] ?i =5 E
2 |=FBXKREHEm |AHKEBIEIECIIEIR) 01 —f+tAT=E| H27.4.13 11,036,520 10.008.000] 9883 |(B) BEER 01 &N 7
3 [=EFXLKREHm |AHKEBEIBIECGIIEIR 01 —f+ART=E|[ H27.4.13 10,299,960 9,936,000 96.46 | (%) EAER [01L.EHN 7
4 [szEngdsEnm|AHEKEEIEIE ER) 01 —fg+AkTHE| H27.4.13 16,467,840 14,990,400 91.02 |7k &% (#k) 01LEXN 5
5 |=HXLAREHEM [AHKEEIBTECAIEIR) 0l —f+ATE| H27.4.14 4,604,040 4590,000( 9969 |HFEEXM@K) [01L.BA 7
6 [REXAREFHEI DERBYLOHE w) ITE (%) (254X TE H27.4.24 14,668,560 13,327,200 90.85 [FHREEFZT X (%) |01.EA 10
] | EmERERN |EEEEEEIE (WERERE) 03 EFETE H27.4.27 2,905,200 2,862,000( 9851 KB RER () |01 BER 3
8 |&EEnEREBT|ERAEFEREIE (BE - Hik) |03 BETSE H27.4.27 690,854,400 606,744,000] 87.82 [&F+E () [01.BR 11
9 [FAMEBEHEEF EBRBYIOSBEHEERN)IEHER) 01_—F}Qj:7kl$ H27.4.30 | 1,221,491,880] 1,215,000,000] 99.46 [wt-smserurssmexs (01 B K 1
10 [ABGREE =% [ERBYOBBIER)ITEGXE) o —tAT=] H274.30 [ 1,939,741,560] 1,927,800,000] 99.38 [st-smsennrsrmess [01 & A 1
11 [SEERBEREBH|[EEAEFTERBIE (EX WAL |o ?E’:L&ff*IE H27.5.1 75,142,080 68,407,200] 91.03 | (¥) HEE 01 BN 10
12 |&i2EneREnm | ERAEEEREITE - ILET) oessusans H27.5.1 64,872,360 64,152,000 98.88 [/\wiEekiE (#k) [01. BN 8
13 [ZE2 FEBBH [ ERBEYLOHRE Rl T=EEE) oo —mtAT=E| H275.15 9,502,920 9,288,000 97.73 [(MR)BREEER [01LEA 9
14 IO KEHRR [AHEKEEBIEC)I-EFT) o1 —#EtATE| H275.15 20,713,320 20,412,000 9854 |EEEEZ @) [01.ERN 9
15 |WhEEBRERF | EERERETE (FEEHE) [1mm2ET=] H275.19 10,695,240 10,692,000{ 99.96 [(#%) BxE L 274 [04 B4} 1
16 [IULO X ARER | AHKEEIBTEERR-EET) [0t —@tATE| H27.5.21 30,863,160 30,456,000 98.68 |FAEE (4%) 01 &R 9
17 (WhEERBHm | AR KEB/IEIE G 01—+ ATE| H27.5.21 6,253,200 6,156,000/ 98.44 |(BR)ET % 01 &N 2
18 |EFERER [ERBEYLSBMOhE) TEGERETEH) 01_—E}Q:I:7I<I$ H27.5.22 42 264,720 41,040,000] 97.10 [=& T % (%) 01BN 12
19 |E FEAREHRM [AEKEEHIIEGER) — B+ ATE| H275.22 6,893,640 6,804,000] 9869 | FEFZ*R) [01.ERN 9
20 |[HEMEREHE | NEKEEHEE ISEGER) oz‘l‘ﬁ ETE H27.5.22 39,091,680 38,880,000 99.45 |HPEZ () [01. BN 8
21 [HEPGERER [FEAEEERBEIEEE - LR [0S EETE H27.5.28 1,432,877,040| 1,414,800,000] 98.73 [ms sxusensrsrmess |01 B 1
22 [FEVEREHE |EEAEFERMIE@EE-LFE2) (3 BETE H27.5.28 | 1,490,943,240] 1,479,600,000] 99.23 [ms axumusrssness [01 B R 1
23 [HENEREHE |ERAEEERMIEEE-LEI) [ BEETSE H275.28 | 1,420,450,560| 1,393,200,000] 98.08 [sn-usserurssmess [01 R 1
24 [FEVEREHA |EELEFERMIE@EE-LFEL) (3 BETE H27.5.28 | 1,430,096,040] 1,404,000,000] 98.17 [ms-murrursrmexn[01 B R 1
25 |BAL B |ERAETERBIEGEE b)) (3 BETSE H27.5.29 | 1,775,315,880] 1,773,360,000] 99.88 [ eswmnurssmess [03 1B 1
26 [IBJLERRFERAT |EEABEEREIE(BER -dbhR) 4 EREHISE| H27.5.29 142,207,920 130,572,000] 91.81 |(#k)HE 03 BN 2
27 |AEEREE |[ERAEFERBIEER-LE1-2) 04 BEEBISE| H275.29 211,473,720 210,600,000 99.58 |(#%) EHEEBERES[01 BN 7
28 [fEIRRFIEFT |EEAEFERBIE(ESR LRS- -4)|04 EREHISE| H27.5.29 200,491,200 199,800,000 99.65 |JEEZ T % (%) |01.BWN 6
29 [FEMEREZFE |ERABTERBIERM-JLE1-2) [sesmnsnnts |  H27.5.29 374,488,920 372,600,000 99.49 |{REkAE T X (4%) [01 BW 1
30 [EMEBRERE [ERAEEEERTISEM-LE3-4) s eseutenrs| H27.529 362,183,400] 361,800,000] 99.89 [Z3/3vH X (#k) [oomizamm 1
31 |AEWEREHEA (ERABEERMIE(TAE LB |11 £-FkETE| H27.5.29 172,730,880{ 170,640,000( 98.78 [E#EE T % (%) |01.BR 4
32 [EEEEREEm | BEMEBETEISE OKFERE) 03 EBETH H27.6.1 24,032,160 23,760,000 98.86 [FEREFHZRTE (%) [01 BH 9
33 | BRI [EREYIOSHE e T GiEwn) |02 FHETE H27.6.2 44,114,760 43,848,000 99.39 |{EBFIEEE% (¥k) 01 &N 12
4 | =FBIAREH |NHEKEBIEIECAJIEIR) 01—+ AITSE H27.6.4 22,584,960 22,464,000 99.46 |FFEE (¥ 01 &N 7
35 |Eh BRI [ERAEEERHBIEGER) (EEHK) [0 —B+ATE| H27.6.10 235,294,200 227,880,000] 96.84 |HA MR (¥k) |01 BEA 10
36 | —AMIAEZHRMR[AHAKEEIBITE ER) 01—t ATHE| H27.6.12 29,960,280 29,916,000 99.85 |EFTEEE% (1'%) 01 BN 2
37 | AMEIAREEM [ AHKEEIBTE CAJID 01—t ATE| H27.6.12 11,529,000 11,523,600 99.95 | (%) & iE#H 01LEAN 3
38 | ZAMEIARERM[NHKEEIBITE CGAJID 01—t ATHE| H27.6.12 11,298,960 11,016,000 9749 |JIBEHZRTE ) |01 BN 1
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39 [ZAMEIAREREM[AHKEEIBTECAJID 01 — g+ ATHE| H27.6.12 12,236,400 11,016,000{ 90.02 [FFEEET X (%) |01 BR 10
40 [ZAMTAEREF | ANEKEEIEHIECAID 01 —f+AT=E|[ H27.6.12 12,065,760 12,042,000] 99.80 | () iEER [01.BRA 1
41 | ZAMEIAREHEFR[AHKEEIBTECAJID 01 —fg+AkTHE| H27.6.12 29,209,680 29,052,000] 99.46 [ () KIE#H 01LEXN 1
42 |[ZARTAEEF|AEKEEIEHIECAID 01 —f+ART=E|[ H27.6.12 7,520,040 7,516,800 99.95 |EHERIER) (01 ERN 11
43 | AWM AREHEM [AHKEEIBTE CGAJID 01 —fg+AkTHE| H27.6.12 27,348,840 27,216,000) 9951 (MR EFFLIE [01LEH 2
44 |BEEEEERERM ([ AHEKEEIRIECYI-EFT) ot —B+RKITE| H27.6.17 35,632,440 34,992,000 98.20 [AX T ZE (%) 01N 9
45 |HEEHZEREEMBAEKEEIR(EE) IEWiEE) |0 —BtRkIE| H276.18 144,385,200( 140,400,000{ 97.23 |[/NEFEEER (4%) 01 EMA 12
46 B2 BB [N KEEEIE(EET) 10 EERIETE| H27.6.24 34,632,360 34,560,000 99.79 |wmsmsusa—ri—sa mexxn [01 A 9
47 |t ERm | AEKEEIRIECU-EET) [or —fg+tkxT=| H276.24 10,542,960 10,422,000 98.85 [(#R)FER T 7P 01BN 9
48 | EERER ([ AHXKEEIRTECA)I - %Fil) 0l —fg+ATE| H27.6.24 17,475,480 17,118,000 9795 |[AKTI X () [01.EBRH 9
49 | mEEESRTEHEM([AHAKEEIRIECTI-EFET) [o1—#+ARTE| H27.6.24 11,712,600 11,340,000 96.81 [ (#k) FrH#H 01BN 9
50 |2 EEERASEN | RE=E Il (/NZES) I (HET) (02 GETSE H27.6.24 295,991,280 294,840,000 99.61 [(#F) mn#hF0fA  [01 BR 8
51 |hersressnm KEEHUMNEER) TS (HET) |02 HETSE H27.6.24 279,751,320 279,720,000 99.98 |[fEEX—E% (#) |01 BN 8
52 |neEszpssnm [ AR KEEIR(EE)ITSE GG |oo—w+ATE|] H276.24 94,911,480 94,824,000 99.90 ﬁ.,,j( L (a&) 01 BEWN 7
53 |lLAXAREBE | AEKEEEIECYI-EET) 01_—E}Q:t7kl$ H27.6.25 40,597,200[ 40,500,000 99.76 [wwsmmusarsi—ss measz |01 B[R 9
54 (lLO T KREFH [AXEKEEIBIE G- ;%FI) — B+ ATE| H27.6.25 22,827,960 22,788,000/ 99.82 iEyLEQ(ffﬁk) 01 BEWN 9
55 |MEELERNEHMEE (B (BE)) ITE G ozﬁﬁ ET=H H27.6.25 21,399,120 20,844,000 97.40 EJIIL xli(ﬁ) 01BN 8
56 |ASEEREBM éf&%ﬁb}m%ﬁ%(‘“Bﬁ)l$(i€£1) —fEtATE| H27.6.29 57,271,320 57,240,000] 99.94 |wmsmsusa—r—sa mexxn [01 &K 9
57 |naiEBBREEHH ,%,%“‘E@EI(ﬁﬁ)l$(ﬂﬁ;&i&) 01_—E}Q:I:7I<I$ H27.6.29 296,861,760/ 295,920,000( 99.68 i;@;’ll%('ée) 01X 1
58 |MheEsmzrsEnT BAGH(EE)) IFEGEMI) (o —#+ATE|[ H27.6.29 128,851,560 128,520,000 99.74 |¥&;T T % (%k) 01 &N 1
59 |haEssrnEnm BEKESIREE) IECHRIES) o — B+ AkTE| H27.6.29 299,562,840 298,080,000 9950 [ILATE (¥%) [01 BEW 1
60 |h&iEgmeaEsem BEXKEEHES ITE(HRIES) |01 — B+ ARTHE| H27.6.29 281,108,880 279,720,000] 99.50 |ILUA T ZE (%) 01 BN 1
61 [EmERER %ﬁﬁ’rﬁ; EETEFEKERYE) |cwrEwnsanis H27.7.1 7,594,560 7,506,000 98.83 [EEAEFZT X (k) 01 BR 2
62 [EABRRE AR e ,%‘“—:E@IE(ETE)IE(J%EE) 0l —fg+AT=E| H27.7.3 245,978,640 245,160,000 99.66 |#&ILER (¥k) [01 BW 1
63 |BLEREIE TEEIQ’AE.E%%{EIE(*%W':H:EFHE) 05 EARBLRBIE H27.7.6 218,700,000/ 218,160,000( 99.75 |&:ZH R (¥k) 03 BN 4
64 [nzEszenzEnm BEKEEIR(EE)IEGEEE) o —KwtATE H27.7.8 231,203,160 231,120,000] 99.96 [erzzsensssuszszness (01 & A 1
65 |FSZEEREHRALAIIKEEIBATIE (EKRI) [0l —#+AIE H27.7.8 156,404,520( 139,212,000] 89.00 [ILE &% (k) 01BN 12
66 ILOT REHF [AXKEEIRIFECT)I-EFT) o1 —#+ATHE[ H27.78 50,116,320]  49,788,000] 99.34 | KIET ¥ (¥%) [01 BW 9
67 |SEENEREEM|BEAREEETIEGAKERYE) |vesEmsamzs| H27.7.13 11,571,120 10,854,000( 93.80 [(#p) BT % 03 B ¥ 2
68 [Remm T kErnsnm [FE T AEHEEE BRSNS T2 14 #HSBBISE] H27.7.13 28,036,800 27,972,000] 99.76 [King(#) Fit%E [04 E 4} 1
69 |[ZAMIARERR[AXKEEIBITECTIID 01 —fg+ATHE| H27.7.14 11,814,120 10,908,000f 9233 [(A)#a&X+t#E 01BN 4
70 | =AW EKREHRE | AHKEZIBIECAID o1 — g+ AT=HE| H27.7.14 6,941,160 6,912,000 9957 |(#) KL 01 BEWN 1
N | ZARMEIARERR [ AXKEEIBITECTID 01 —fg+ATE| H27.7.14 22,378,680 22,356,000] 99.89 |JIIRERTIE R [01. BN 2
72 | = AREAREHRE | AXEKERIBIECAID —f+ATE| H27.7.14 15,203,160 15,120,000( 99.45 |FJII T2 (#) 01LEAN 5
13 | ZAMEIAREER[AXKEEIBIECTID 01—t ATE| H27.7.14 20,327,760 20,304,000 99.88 [EHEEEZTI X 01BN 1
74 |WWhEREBEFEAT [ oBE (EEE () TE (FEH) (o1 — gt ARTE| H27.7.14 59,573,880 58,320,000 97.89 | (k) = I&#H 01LEAN 8
75 |BAL = |[ERAEFTERBIEGER) Ch2) o1 —@+tARTHE| H27.7.15 716,974,200] 656,640,000 9158 [EFHEZTE (%) [01 BX 3
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76 |FESEERERM|ARKERBISFCITII-ESFET) [01 —#+ARTE| H27.7.15 18,473,400 18,252,000 98.80 |ILIZE 2% (#k) 01L.EXN

11 |E2HERBEm[EFER iEﬁ,u\Eﬂz%:E%(n%;—) 01—+ AKTE| H27.7.17 7,727,400 7,560,000] 97.83 |yUEEER (%) 01BN

78 [Wh=EEERR I (X F (FE)) TE (8F) 01 —fg+AkTHE| H27.7.22 133,889,760( 132,840,000( 99.21 [(#) mnF1fA |01 BR

79 |BEEEEREHM | GERE) ITE (FiERET) 0l — ¢+ ATHE| H27.7.23 18,352,440 18,144,000] 98.86 | (#) #rF4A 01 &A

80 |Fs =35 (A0 QERE) T (R ERET) 01 —ftAT=E| H27.7.23 21,566,520 20,844,000 96.64 i#rs:tLI%(ﬁ) 01 &R

81 [BERIAEZHEM|NHEKEEIEIECEm) 10 EEMEBIE| H27.7.24 32,546,880 31,860,000 97.88 [s—&irxm msrxE[01 BXN

82 |£RENERTHM | EREBYLSER (BE) TH (R o —B+RIE| H27.7.27 66,651,120 62,640,000] 93.98 (ﬁ)ﬁ;‘%’r’rl%%ra‘ 01.EWN

83 |LWhEERFEHM |EBE (XF (BE))IECER) 01—t ATE| H27.7.27 249,010,200 248,400,000 99.75 |¥&E;T T % (¥%) 01 W

84 [HEIEXRFH [MAIHEHIEERERIZEGE (2 #HETE H27.7.28 47,808,360 47,196,000 98.71 |FEFIEHRTE (%) |01. BN

85 |EIbEREHRM [EEAEFEEBIEGER B ,R) —ftATHE| H27.7.29 317,649,600 286,200,000f 90.09 [zs-mimseszanzssmesx |01 B K

86 |LWhZEEREFM|AHKEEEEE ITEGERLE) o7 PciEtBIE| H27.7.29 202,458,960 178,092,000 87.96 [mw=mamrz mexxm|03 B[R

87 |FMEBEREEA [(EBRBYIOSERED I E(GEMBE)|02 HETSE H27.7.30 47,792,160  46,980,000( 98.30 [/NEFEEEZ (#%%) |01 BA

88 |haEmzrREnm [KEERHUMNESR) TE(EGET) (2 #HETE H27.7.31 266,929,560 266,760,000( 99.93 |f@;EK—iE% (%) [01 BN

89 |haEmzrgEnm [(KEEHUMNER) TE(GET) (02 8HETE H27.7.31 204,930,000] 204,120,000 99.60 | (4k) = I&4H 01 W

90 |FESEEEEHRA ’\%‘J‘Q%QIEI$(/EHII-E§J”$I) 01—+ ATE H27.8.3 32,670,000 31,752,000] 97.19 | KIE T % (%) 01BN

o1 [neEszrnssm BE R F(HE)) I=CBRER) [0 —wtAT=E| H2784 427816,080] 426,600,000 99.71 [¥E;TTE () |01 BR

92 |IEEERERA [AHEKEEREE)IECESE) |0 —BEATE H27.8.4 293,149,800/ 291,600,000 99.47 [AFEFEGE) [01BR

93 [mEEERBHEM | GER) T3 (RIERETL) 0l —fg+AT=E| H27.8.10 12,825,000 12,744,000] 99.36 |(#%) EEE 7P [01. BN

94 |EREAREFHEN |AAKEEEEE IEWBRLET) [o7PCELHTE| H27.8.11 115,308,360 101,952,000] 88.41 [was=s—trumwmsessn |02 BiEsEn

95 |[ERETARERF [EFERBREREIETESRT) (o —®EtATE|[ H27.8.11 6,866,640 6,210,000] 9043 |E=EHITE () [01. BN 9
06 |HEMEBHEHET |EEAEFERBIECGERE -HA11) |03 BETE H27.8.13 | 1,258,519,680| 1,251,720,000| 99.45 [ms-axsenurssness (01 B K 1
97 | MM |EEAEFERBIEEE -FH12) (03 EETE H27.8.13 1,110,079,080| 1,107,000,000] 99.72 [FETEHIT X (4%) |01 BX 1
08 [HHNERNERT (FEAEEERBIEGEE -FR3) (03 BETE H27.8.13 | 1,098,134,280] 1,090,800,000] 99.33 [ms-murrursrmexs[01 B R 1
00 [FBXVEREFFr [EEAETERBIE (BE-Hi4) (03 BETE H27.8.13 | 1,101,630,240| 1,101,600,000] 99.99 [FEREHZT X (4) [01 BX 1
100 [fE VIR ER B 75F |EEAEEERMBIE GEE-Fl5) (03 BETE H27.8.13 1,188,112,320] 1,177,200,000| 99.08 |=n-amuenarssmesn [01 B[R 1
101 [FENERE=F5 |EEAETERHIE (M -BRT1-3) sesmnssnts | H27.8.17 238,730,760 238,680,000 99.97 [ILBIEZIT £ (i) [0 BizaEm 1
102 [#ENB R EFRE [EEASETEBITE (W -E/2-4-5) [seszuzenrs| H27.8.17 402,419,880 401,760,000 99.83 [&:iEH X (%) 03 ER 1
103 [#EMERE=F |ERAEFERBIE(ESR -miT1) 4 BREETE| H27.8.17 94,063,680]  91,800,000] 97.59 [RIIESTX ) [01 BR 9
104 [FENEREHA |EEAEFEERIE (ER -A2) (4 BREMBIE| H27.8.17 88,085,880] 86,400,000/ 98.08 [ZBERITE (#) [0 mizaEm 9
105 |AEDVER ST [BEAEGEE IS (ER M) |4 BREMITE| H27.8.17 87,831,000 85,860,000/ 97.75 :,ﬁ*'—t@(a\) 02 BEE3E R 9
106 |[AEDVER BT [EEABEERM IS (BER-FH4) |4 ERRMBITE| H27.8.17 87,200,280  83,160,000] 95.36 [LWhEBRTE () [oo mizaEm 9
107 |[AEEREEA [FRABEERM IS (ER-FA5) |4 ERRHEITE| H27.8.17 120,808,800 117,720,000 97.44 |3 EER (k) 01 &N 8
108 |FI&i2 R E AT EREYLOSBE@ES) ITE (o) (o —@+kTE| H27.8.19 299,393,280 299,160,000] 99.92 [ss s zrunsunrssness [01 B[R 1
109 [FENEREHA | A XK EEHEE IECER) —tATE| H27.8.21 1,488,437,640] 1,485,000,000] 99.76 [#u-=mmsersrssmexs [01 &K 1
110 ENEREL [ NEKEBIHEE)IE=CER) | —mitArT=E| H27.8.21 1,291,869,000] 1,290,600,000] 99.90 [ru-=maszrarssmers [01 &R 1
111 [FENERERA | NEKEEHEE)IECER) [0 —m@tARTE| H27.8.21 886,724,280 885,600,000] 99.87 [mu-=mmszrsrsznexs (01 B[R 1
12| FEEESERMm ([ AHAKEEIRITECITII-EFET) [or—fB+KRTE[ H27.8.21 52,353,000 51,840,000] 99.02 | XIF T % (%) 01 &N 9
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3| EmERERT [EBRBYORREEH IS GERE) (2 METE H27.8.26 65,994,480  65,880,000] 99.82 [ (#k) EIE TP |01 BA 13
M4|ETFEAREHE |AHEKEBIHIE GEREIR) 01 —f+AT=E| H27.8.26 9,249,120 8,964,000 96.91 | KEkEHRITE () [01 BEW 9
115|L0VhEBREHA [ AEKEFTIREE)IECA)I) |[5@ERETE| H27.8.31 65,914,560] 59,940,000 9093 [exms ez (03 ERH 4
116 [WhEESRFEHA | EFERRSNETE (BERT) [6MmELtHIs H27.9.1 4,970,160 4860,000[ 97.78 [Z£JIET (%) |01 BRA 1
117 [FEPEEREF (AHEKEEIHEE)IEEERTE) [0 — Bt ATE H27.9.2 149,614,560 149,040,000( 99.61 |=n-wenenurssmess [03 IR[A 1
118 | 2ERER (A HEKEEIRIECY)II-EET) o1 —BTARITE H27.9.2 58,435,560 57,780,000] 9887 | KIETE ) [01. BN 9
119 [HENERER |EREAEFTEBBIEERER) [0l —B+ATE H27.9.7 111,647,160 110,160,000 98.66 |# k% T % () |01 BR 1
120 [ EAL BER=m |ERABEERBIERE-LPR) (3 BETE H27.9.8 15,972,120 15,876,000{ 99.39 [{EEET X (%) [01.BRA 1
121 |IN& EBERBEHRH ,ﬁ,&(@lgxﬁ):l:$(¢3¥7kl) 01 — g+ ATH H27.9.9 295392960 294,840,000] 99.81 [srzssn-risnenszssmezs |01 B N 1
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